) dN/dy

(LN

Ratio to CMS

9QO.GG.VPP...............NS.

NSD

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

_l I I I I | I I I I | I I I I I I I |_
- |YKKOS) (NSD, Iy| < 2) -
0.4 — —
B m CMS _
~ —&— Pythia 8.301 default 7]
0.35 — - ¥- Pythia 8.301 vincia-default —]
0.3 -
0.25 — —
o2 ® ® & w @® & = -
B n ]
...... V- - ¥ - - Y _y._. _ _w. _
- N M A St NN
0.15 — —
0.1 —
:l | | | | | | | | | | | | | | | | | | | | |:
e L L
2 & =
1 e — A——4A 4 A— & A—A
v - - v - L A v - Voo mo=: - A \ fo=o=¢ =\/ -
0.5
I T T T I R T T I R T T I R T T
0 0.5 1 1.5
KO



	Contents
	Page 1


